

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

On Generating Functions for Certain Special Functions by Weisner's Group Theoretic Method ¹

A. K. Chongdar, G. Pittaluga, L. Sacripante

Presented by V. Kiryakova

Weisner's group theoretic method of obtaining generating functions with the single interpretation to the index n has been applied in the study of a modification of extended Jacobi polynomials. In Section 2, a set of infinitesimal operators (known as raising and lowering operators), their commutators (or alternants or Lie products) and the groups corresponding to the infinitesimal operators have been introduced and on showing that they generate a three dimensional Lie algebra we have obtained in Section 3, a novel generating relation of the polynomial under consideration which, as special cases, yields a good number of results (both new and known) involving various special functions. Besides, it has been shown that those generating functions which could have been obtained by double interpretation either to (n, α) or to (n, β) in Weisner's method, can also be derived from our results. At the end, we have mentioned some important observations in the application of Weisner's method to the study of generating functions for the classical orthogonal polynomials.

AMS Subj. Classification: 33A65

Key Words: generating functions, Laguerre polynomials, Hermite polynomials, Bessel polynomials, Jacobi polynomials

1. Introduction

The unified presentation for the classical orthogonal polynomials was originally introduced by I. Fujiwara [1] which was subsequently designated by N.K. Thakare [2] as extended Jacobi polynomials, $F_n(\alpha, \beta, x)$ and was given by

$$F_n(\alpha, \beta, x) = \frac{(-1)^n}{n!} (x-a)^{-\alpha} (b-x)^{-\beta} \left(\frac{\lambda}{b-a} \right)^n \\ \times D^n \left[(x-a)^{n+\alpha} (b-x)^{n+\beta} \right], \quad D = \frac{d}{dx}.$$

¹Work supported by the Consiglio Nazionale delle Ricerche of Italy and by the Ministero dell'Università e della Ricerca Scientifica e Tecnologica of Italy.

In this paper we consider $F_n(\alpha - n, \beta, x)$, a modified form of $F_n(\alpha, \beta, x)$ which satisfies the following ordinary differential equation :

$$(1.1) [(x-a)(b-x)D^2 + \{(\alpha-n+1)(b-x) - (\beta+1)(x-a)\}D + n(1+\alpha+\beta)]y = 0.$$

Very recently some attempts in connection with the application of Weisner's group theoretic method [3-5] in deriving generating functions of extended Jacobi polynomials and its different modifications, have been made by some authors. For previous works, see [6-10].

The aim of writing this article is to present a unified form of generating functions for some special functions in terms of modified extended Jacobi polynomials $F_n(\alpha - n, \beta, x)$ by the application of Weisner's group theoretic method, which is lucidly presented in the monograph "Obtaining Generating Functions" written by E.B. McBride [10], and then to show that those results which could have been obtained by double interpretations either to (n, α) or to (n, β) simultaneously in Weisner's method can also be derived from our results. The main results of this article are given in Section 3.

2. Group theoretic discussion

Replacing $\frac{d}{dx}$ by $\frac{\partial}{\partial x}$, n by $y\frac{\partial}{\partial y}$ and y by $u(x, y)$ in (1.1), we get

$$(2.1) \quad \left[(x-a)(b-x)\frac{\partial^2}{\partial x^2} + \{(\alpha+1)(b-x) - (\beta+1)(x-a)\}\frac{\partial}{\partial x} - (b-x)y\frac{\partial^2}{\partial x\partial y} + (1+\alpha+\beta)y\frac{\partial}{\partial y} \right] u = 0.$$

Thus $u_1(x, y) = F_n(\alpha - n, \beta, x)y^n$ is a solution of (2.1) since $F_n(\alpha - n, \beta, x)$ is a solution of (1.1).

We now look for two first order linear partial differential operators A_2 and A_3 such that

$$(2.2) \quad A_2(F_n(\alpha - n, \beta, x)y^n) = a_2(n)F_{n+1}(\alpha - n - 1, \beta, x)y^{n+1}$$

and

$$(2.3) \quad A_3(F_n(\alpha - n, \beta, x)y^n) = a_3(n)F_{n-1}(\alpha - n + 1, \beta, x)y^{n-1}.$$

Using (2.2) and the relation

$$(2.4) \quad (x-a)(b-x)DF_n(\alpha - n, \beta, x) = [(x-b)(\alpha - n)$$

$$+ (n + \beta + 1)(x - a)]F_n(\alpha - n, \beta, x) - \frac{(n + 1)(b - a)}{\lambda} F_{n+1}(\alpha - n - 1, \beta, x),$$

we easily get

$$A_2 = \frac{\lambda}{b - a}(x - a)(b - x)y \frac{\partial}{\partial x} - \lambda y^2 \frac{\partial}{\partial y} + [(b - x)\alpha - (\beta + 1)(x - a)] \frac{\lambda y}{b - a},$$

so that

$$(2.5) \quad A_2(F_n(\alpha - n, \beta, x)y^n) = -(n + 1)F_{n+1}(\alpha - n - 1, \beta, x)y^{n+1}.$$

Similarly, using (2.3) and the relation

$$(2.6) \quad (x - b)DF_n(\alpha - n, \beta, x) = nF_n(\alpha - n, \beta, x) - \lambda(\beta + n)F_{n-1}(\alpha - n + 1, \beta, x),$$

we get

$$A_3 = (x - b)y^{-1}\lambda^{-1} \frac{\partial}{\partial x} - \lambda^{-1} \frac{\partial}{\partial y},$$

so that

$$(2.7) \quad A_3(F_n(\alpha - n, \beta, x)y^n) = (-\beta - n)F_{n-1}(\alpha - n + 1, \beta, x)y^{n-1}.$$

To find the group of operators let us write $A_1 = y \frac{\partial}{\partial y}$, then we have the following commutator relations:

$$[A_1, A_j] = (-1)^j A_j \quad (j = 2, 3),$$

$$[A_2, A_3] = -(2A_1 + \beta + 1),$$

where

$$[A, B]u = (AB - BA)u.$$

From the above commutator relations, we arrive to the following theorem.

Theorem. *The set of operators $\{1, A_i (i = 1, 2, 3)\}$, where 1 stands for the identity operator, generates a Lie algebra \mathcal{L} .*

It can be shown that the partial differential operator

$$L = (x - a)(b - x) \frac{\partial^2}{\partial x^2} + \{(\alpha + 1)(b - x) - (\beta + 1)(x - a)\} \frac{\partial}{\partial x} \\ - (b - x)y \frac{\partial^2}{\partial x \partial y} + (1 + \alpha + \beta)y \frac{\partial}{\partial y},$$

which can be expressed as follows

$$(2.8) \quad (x - b)L = (b - a)[A_2A_3 - (A_1 + \beta)A_1],$$

commutes with each of the operators A_i ($i = 1, 2, 3$), i.e.,

$$(2.9) \quad [(x - b)L, A_i] = 0, \quad i = 1, 2, 3.$$

The extended form of the groups generated by A_i ($i = 1, 2, 3$) are as follows

$$(2.10) \quad e^{a_1 A_1} f(x, y) = f(x, e^{a_1} y),$$

$$(2.11) \quad e^{a_2 A_2} f(x, y) = (1 + a_2 \lambda y)^\alpha \left\{ 1 + a_2 \lambda \frac{x - a}{b - a} y \right\}^{-\alpha - \beta - 1} \\ \times f \left(\frac{x + a_2 \lambda b \frac{x - a}{b - a} y}{1 + a_2 \lambda \frac{x - a}{b - a} y}, \frac{y}{1 + a_2 \lambda y} \right),$$

$$(2.12) \quad e^{a_3 A_3} f(x, y) = f \left(\frac{x - \frac{a_3 b}{\lambda y}}{1 - \frac{a_3}{\lambda y}}, y \left(1 - \frac{a_3}{\lambda y} \right) \right).$$

Thus we have

$$(2.13) \quad e^{a_3 A_3} e^{a_2 A_2} e^{a_1 A_1} f(x, y) \\ = \left\{ 1 + a_2 \lambda \left(y - \frac{a_3}{\lambda} \right) \right\}^\alpha \left\{ 1 + a_2 \lambda \left(\frac{x - a}{b - a} y - \frac{a_3}{\lambda} \right) \right\}^{-\alpha - \beta - 1} \\ \times f \left(\frac{xy - \frac{a_3 b}{\lambda} + a_2 \lambda b \left(y - \frac{a_3}{\lambda} \right) \left(\frac{x - a}{b - a} y - \frac{a_3}{\lambda} \right)}{\left(y - \frac{a_3}{\lambda} \right) \left\{ 1 + a_2 \lambda \left(\frac{x - a}{b - a} y - \frac{a_3}{\lambda} \right) \right\}}, e^{a_1} \frac{y - \frac{a_3}{\lambda}}{1 + a_2 \lambda \left(y - \frac{a_3}{\lambda} \right)} \right).$$

3. Generating functions

From the above discussion it follows that $u(x, y) = F_n(\alpha - n, \beta, x)y^n$ is a solution of the system

$$\begin{cases} Lu = 0 \\ (A_1 - n)u = 0. \end{cases}$$

From (2.9), it is obvious that

$$S(x-b)L(F_n(\alpha-n, \beta, x)y^n) = (x-b)LS(F_n(\alpha-n, \beta, x)y^n) = 0,$$

where

$$S = e^{a_3 A_3} e^{a_2 A_2} e^{a_1 A_1}.$$

Therefore the transformation $(SF_n(\alpha-n, \beta, x)y^n)$ is annihilated by $(x-b)L$.

By putting $a_1 = 0$ in (2.13) and then replacing $f(x, y)$ by $F_n(\alpha-n, \beta, x)y^n$, we get

$$\begin{aligned} (3.1) \quad & e^{a_3 A_3} e^{a_2 A_2} (F_n(\alpha-n, \beta, x)y^n) \\ &= \left\{ 1 + a_2 \lambda \left(y - \frac{a_3}{\lambda} \right) \right\}^{\alpha-n} \left\{ 1 + a_2 \lambda \left(\frac{x-a}{b-a} y - \frac{a_3}{\lambda} \right) \right\}^{-\alpha-\beta-1} \\ &\times F_n \left(\alpha-n, \beta, \frac{xy - \frac{a_3 b}{\lambda} + a_2 \lambda b \left(y - \frac{a_3}{\lambda} \right) \left(\frac{x-a}{b-a} y - \frac{a_3}{\lambda} \right)}{\left(y - \frac{a_3}{\lambda} \right) \left\{ 1 + a_2 \lambda \left(\frac{x-a}{b-a} y - \frac{a_3}{\lambda} \right) \right\}} \right) \left(y - \frac{a_3}{\lambda} \right)^n. \end{aligned}$$

But

$$\begin{aligned} (3.2) \quad & e^{a_3 A_3} e^{a_2 A_2} (F_n(\alpha-n, \beta, x)y^n) \\ &= \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{(a_3/y)^p}{p!} \frac{(-a_2 y)^k}{k!} (n+1)_k (-\beta-n-k)_p \cdot F_{n+k-p}(\alpha-n-k+p, \beta, x)y^n. \end{aligned}$$

Equating (3.1) and (3.2), we get

$$\begin{aligned} (3.3) \quad & \left(1 - \frac{a_3}{\lambda y} \right)^n \left\{ 1 + a_2 \lambda \left(y - \frac{a_3}{\lambda} \right) \right\}^{\alpha-n} \cdot \left\{ 1 + a_2 \lambda y \left(\frac{x-a}{b-a} y - \frac{a_3}{\lambda} \right) \right\}^{-\alpha-\beta-1} \\ &\times F_n \left(\alpha-n, \beta, \frac{x - \frac{a_3 b}{\lambda y} + a_2 \lambda b y \left(1 - \frac{a_3}{\lambda y} \right) \left(\frac{x-a}{b-a} - \frac{a_3}{\lambda y} \right)}{\left(1 - \frac{a_3}{\lambda y} \right) \left\{ 1 + a_2 \lambda y \left(\frac{x-a}{b-a} - \frac{a_3}{\lambda y} \right) \right\}} \right) \\ &= \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{(a_3/y)^p}{p!} \frac{(-a_2 y)^k}{k!} (n+1)_k (-\beta-n-k)_p \cdot F_{n+k-p}(\alpha-n-k+p, \beta, x), \end{aligned}$$

which seems to be new.

Before discussing particular cases of the result (3.3), we would like to point it out that the operators A_2, A_3 being non-commutative, as seen from the

commutator relation $[A_2, A_3] = -(2A_1 + \beta + 1)$, the relation (3.3) will change if their order be interchanged in $e^{a_2 A_2} e^{a_3 A_3}$, which is given in Section 4.

We now consider the following particular cases:

Case 1: Putting $a_3 = 0$ and replacing $-a_3 y$ by t , we get

$$(3.4) \quad (1 - \lambda t)^{\alpha - n} \left\{ 1 - \lambda t \frac{x - a}{b - a} \right\}^{-\alpha - \beta - 1} \cdot F_n \left(\alpha - n, \beta, \frac{x - \lambda t \frac{x - a}{b - a} b}{1 - \lambda t \frac{x - a}{b - a}} \right) \\ = \sum_{k=0}^{\infty} \frac{(n+1)_k}{k!} F_{n+k}(\alpha - n - k, \beta, x) t^k.$$

Sub-case: If we put $n = 0$, then

$$(3.5) \quad (1 - \lambda t)^{\alpha} \left\{ 1 - \lambda t \frac{x - a}{b - a} \right\}^{-\alpha - \beta - 1} = \sum_{k=0}^{\infty} F_k(\alpha - k, \beta, x) t^k.$$

Case 2: Putting $a_2 = 0$ and replacing a_2/y by t in (3.3), we get

$$(3.6) \quad \left(1 - \frac{t}{\lambda} \right)^n F_n \left(\alpha - n, \beta, \frac{x - tb/\lambda}{1 - t/\lambda} \right) \\ = \sum_{p=0}^{\infty} \frac{(-\beta - n)_p}{p!} F_{n-p}(\alpha - n + p, \beta, x) t^p.$$

Case 3: Taking $a_2 a_3 \neq 0$, without any loss of generality we can choose $a_2 = \omega$, $a_3 = -1$ and replacing y by t^{-1} , we get

$$(3.7) \quad \left(1 + \frac{t}{\lambda} \right)^n \left\{ 1 + \frac{\lambda}{\omega} \left(1 + \frac{t}{\lambda} \right) \right\}^{\alpha - n} \cdot \left\{ 1 + \frac{\lambda \omega}{t} \left(\frac{x - a}{b - a} + \frac{t}{\lambda} \right) \right\}^{-\alpha - \beta - 1} \\ \times F_n \left(\alpha - n, \beta, \frac{\left(x + \frac{tb}{\lambda} \right) + \frac{b\omega\lambda}{t} \left(1 + \frac{t}{\lambda} \right) \left(\frac{x - a}{b - a} + \frac{t}{\lambda} \right)}{\left(1 + \frac{t}{\lambda} \right) \left\{ 1 + \frac{\lambda \omega}{t} \left(\frac{x - a}{b - a} + \frac{t}{\lambda} \right) \right\}} \right) \\ = \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{(-t)^p}{p!} \frac{(-\omega/t)^k}{k!} (n+1)_k (-\beta - n - k)_p \cdot F_{n+k-p}(\alpha - n - k + p, \beta, x).$$

The above results are believed to be new.

Here we would like to mention that, by using the following symmetry relation:

$$(3.8) \quad F_n(\alpha, \beta, a + b - x) = (-1)^n F_n(\beta, \alpha, x),$$

one can immediately get the following generating relations from the relations (3.4)-(3.7):

$$(3.9) \quad (1 + \lambda t)^{\beta-n} \left\{ 1 - \frac{\lambda}{b-a}(x-b)t \right\}^{-\alpha-\beta-1} \cdot F_n \left(\alpha, \beta-n, \frac{x - \frac{a\lambda}{b-a}(x-b)t}{1 - \frac{\lambda}{b-a}(x-b)t} \right) \\ = \sum_{k=0}^{\infty} \frac{(n+1)_k}{k!} F_{n+k}(\alpha, \beta-n-k, x) t^k,$$

$$(3.10) \quad (1 + \lambda t)^{\beta} \left\{ 1 - \frac{\lambda}{b-a}(x-b)t \right\}^{-\alpha-\beta-1} = \sum_{k=0}^{\infty} F_k(\alpha, \beta-k, x) t^k,$$

$$(3.11) \quad \left(1 + \frac{t}{\lambda} \right)^n F_n \left(\alpha, \beta-n, \frac{x + at/\lambda}{1 + t/\lambda} \right) \\ = \sum_{p=0}^n \frac{(-\alpha-n)_p}{p!} F_{n-p}(\alpha, \beta-n+p, x) t^p,$$

$$(3.12) \quad \left(1 + \frac{t}{\lambda} \right)^n \cdot \left\{ 1 + \frac{\lambda\omega}{t} \left(1 + \frac{t}{\lambda} \right) \right\}^{\beta-n} \cdot \left\{ 1 + \frac{\lambda\omega}{t} \left(\frac{b-x}{b-a} + \frac{t}{\lambda} \right) \right\}^{-\alpha-\beta-1} \\ \times F_n \left(\alpha, \beta-n, \frac{x + \frac{at}{\lambda} + \frac{a\omega\lambda}{t} \left(1 + \frac{t}{\lambda} \right) \left(\frac{b-x}{b-a} + \frac{t}{\lambda} \right)}{\left(1 + \frac{t}{\lambda} \right) \left\{ 1 + \frac{\lambda\omega}{t} \left(\frac{b-x}{b-a} + \frac{t}{\lambda} \right) \right\}} \right) \\ = \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{\omega^k (n+1)_k}{k! t^k} \frac{t^p (-\alpha-n-p)_p}{p!} \cdot F_{n+k-p}(\alpha, \beta-n-k+p, x).$$

Now, if we replace α by $\alpha+n$ on both sides of (3.4)-(3.7) and β by $\beta+n$ on both sides of (3.9)-(3.12), we get the results which could have been obtained by

double interpretations to (n, α) and (n, β) respectively while applying Weisner's group theoretic method in the study of $F_n(\alpha, \beta, x)$.

Some special cases are given below:

Special Case 1: Putting $a = 0$, $\lambda = 1$ and $\beta = b$ in (3.4) and (3.6) and then simplifying and finally taking limit as $b \rightarrow \infty$, we get the following results on generating functions involving Laguerre polynomials:

$$(3.13) \quad (1+t)^{\alpha-n} \exp(-xt) L_n^{(\alpha-n)}(x(1+t)) = \sum_{k=0}^{\infty} \frac{(n+1)_k}{k!} L_{n+k}^{(\alpha-n-k)}(x) t^k,$$

$$(3.14) \quad L_n^{(\alpha-n)}(x-t) = \sum_{p=0}^n \frac{1}{p!} L_{n-p}^{(\alpha-n+p)}(x) t^p.$$

Now putting $n = 0$ in (3.13), we get

$$(3.15) \quad (1+t)^{\alpha} \exp(-xt) = \sum_{k=0}^{\infty} L_k^{(\alpha-k)}(x) t^k.$$

The above results do not seem to have appeared in the earlier works.

Special Case 2: Putting $\alpha = \beta$, $-a = b = \sqrt{\alpha}$, recalling that $\lambda \rightarrow 2/\sqrt{\alpha}$ in (3.4) and (3.6) and then taking limit as $\alpha \rightarrow \infty$, we get the following results on Hermite polynomials:

$$(3.16) \quad \exp(2xt - t^2) H_n(x-t) = \sum_{k=0}^{\infty} \frac{1}{k!} H_{n+k}(x) t^k,$$

$$(3.17) \quad H_n(x+t) = \sum_{p=0}^n \binom{n}{p} H_{n-p}(x) (2t)^p.$$

Now putting $n = 0$ in (3.16), we get

$$(3.18) \quad \exp(2xt - t^2) = \sum_{k=0}^{\infty} \frac{1}{k!} H_k(x) t^k.$$

The above results are due to L. Weisner [4].

Special Case 3: Writing $1 + 2x/s$, $s\omega/\epsilon$ in place of x and t in (3.4) and (3.6) and then putting $-a = b = \lambda = 1$, $\alpha = \nu - \epsilon - 1$, $\beta = \epsilon - 1$ and then taking limit as $\epsilon \rightarrow \infty$, we get the following results on Bessel polynomials:

$$(3.19) \quad (1 - x\omega)^{1-\nu} \exp(s\omega) \cdot y\left(\frac{x}{1-x\omega}, \nu - n, s\right) = \sum_{k=0}^{\infty} y_{n+k}(x, \nu - n - k, s) \frac{(s\omega)^k}{k!},$$

$$(3.20) \quad (1+t)^n y\left(\frac{x}{1-t}, \nu - n, s\right) = \sum_{p=0}^{\infty} \binom{n}{p} y_{n-p}(x, \nu - n + p, s) t^p.$$

Putting $n = 0$ in (3.19), we get

$$(3.21) \quad (1 - x\omega)^{1-\nu} \exp(s\omega) = \sum_{k=0}^{\infty} y_k(x, \nu - k, s) \frac{(s\omega)^k}{k!}.$$

The above results involving Bessel polynomials introduced by H.L. Krall and O. Frink [11] are found derived in [12-13].

Special Case 4: Putting $-a = b = 1$ and $\lambda = 1$ in (3.4) and (3.6) we get the following results of Jacobi polynomials:

$$(3.22) \quad (1-t)^{\alpha-n} \left\{1 - \frac{t}{2}(1+x)\right\}^{-\alpha-\beta-1} \cdot P_n^{(\beta, \alpha-n)}\left(\frac{x - \frac{t}{2}(1+x)}{1 - \frac{t}{2}(1+x)}\right) \\ = \sum_{k=0}^{\infty} \frac{(n+1)_k}{k!} P_{n+k}^{(\beta, \alpha-n-k)}(x) t^k,$$

$$(3.23) \quad (1-t)^n P_n^{(\beta, \alpha-n)}\left(\frac{x-t}{1-t}\right) = \sum_{p=0}^n \frac{(-\beta-n)_p}{p!} P_{n-p}^{(\beta, \alpha-n+p)}(x) t^p.$$

Now putting $n = 0$ in (3.22) and then interchanging α, β , we get the following well known result of Feldheim [14]:

$$(3.24) \quad (1-t)^{\beta} \left\{1 - \frac{t}{2}(1+x)\right\}^{-\alpha-\beta-1} = \sum_{k=0}^{\infty} P_k^{(\alpha, \beta-k)}(x) t^k,$$

and the same is also derived by W.A. Al-Salam [15] and V.K. Verma [16] in different way.

Here we would like to mention that, by using the symmetry relation [17]:

$$(3.25) \quad P_n^{(\alpha, \beta)}(x) = (-1)^n P_n^{(\beta, \alpha)}(-x),$$

one can get the following generating relations from (3.22) and (3.23):

$$(3.26) \quad (1+t)^{\alpha-n} \left\{ 1 + \frac{t}{2}(1-x) \right\}^{-\alpha-\beta-1} \cdot P_n^{(\alpha-n, \beta)} \left(\frac{x - \frac{t}{2}(1-x)}{1 + \frac{t}{2}(1-x)} \right) \\ = \sum_{k=0}^{\infty} \frac{(n+1)_k}{k!} P_{n+k}^{(\alpha-n-k, \beta)}(x) t^k,$$

and

$$(3.27) \quad (1+t)^n P_n^{(\alpha-n, \beta)} \left(\frac{x-t}{1+t} \right) = \sum_{p=0}^n \frac{(-\beta-n)_p}{p!} P_{n-p}^{(\alpha-n+p, \beta)}(x) t^p.$$

If we replace α by $\alpha + n$ in (3.13)-(3.14), (3.16)-(3.17), (3.26)-(3.27) we get the results found derived in [18,19,20,21] and if we interchange α, β and then replace β by $\beta + n$ in (3.22)-(3.23), we get the results of A.B. Chakraborti [22].

4. Variant of the result (3.3)

By interchanging the order of operators A_2 and A_3 in $e^{a_3 A_3} e^{a_2 A_2} e^{a_1 A_1}$, we get

$$(4.1) \quad e^{a_2 A_2} e^{a_3 A_3} e^{a_1 A_1} f(x, y) = (1 + a_2 \lambda y)^\alpha \left\{ 1 + a_2 \lambda \frac{x-a}{b-a} y \right\}^{-\alpha-\beta-1} \cdot f(\xi, \eta),$$

where

$$\xi = \frac{x - \frac{a_3}{\lambda y} b(1 + a_2 \lambda y) + a_2 \lambda b \frac{x-a}{b-a} y \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}}{\left(1 + a_2 \lambda \frac{x-a}{b-a} y \right) \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}}, \\ \eta = e^{a_1} \frac{y \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}}{1 + a_2 \lambda y}.$$

Putting $a_1 = 0$, we get

$$(4.2) \quad e^{a_2 A_2} e^{a_3 A_3} (F_n(\alpha - n, \beta, x) y^n)$$

$$= (1 + a_2 \lambda y)^{\alpha-n} \left\{ 1 + a_2 \lambda \frac{x-a}{b-a} y \right\}^{-\alpha-\beta-1} \cdot \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}^n y^n \\ \times F_n \left(\alpha - n, \beta, \frac{x - \frac{a_3}{\lambda y} b(1 + a_2 \lambda y) + a_2 \lambda b \frac{x-a}{b-a} y \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}}{\left(1 + a_2 \lambda \frac{x-a}{b-a} y \right) \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}} \right).$$

But

$$(4.3) \quad e^{a_2 A_2} e^{a_3 A_3} (F_n(\alpha - n, \beta, x) y^n) \\ = \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{(-a_2 y)^k}{k!} \frac{(a_3/y)^p}{p!} (-\beta - n)_p (n - p - 1)_k \cdot F_{n-p+k}(\alpha - n + p - k, \beta, x) y^n.$$

Equating (4.2) and (4.3), we get

$$(4.4) \quad (1 + a_2 \lambda y)^{\alpha-n} \left\{ 1 + a_2 \lambda \frac{x-a}{b-a} y \right\}^{-\alpha-\beta-1} \cdot \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}^n \\ \times F_n \left(\alpha - n, \beta, \frac{x - \frac{a_3}{\lambda y} b(1 + a_2 \lambda y) + a_2 \lambda b \frac{x-a}{b-a} y \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}}{\left(1 + a_2 \lambda \frac{x-a}{b-a} y \right) \left\{ 1 - \frac{a_3}{\lambda y} (1 + a_2 \lambda y) \right\}} \right) \\ = \sum_{k=0}^{\infty} \sum_{p=0}^{n+k} \frac{(-a_2 y)^k}{k!} \frac{(a_3/y)^p}{p!} (-\beta - n)_p (n - p + 1)_k \cdot F_{n-p+k}(\alpha - n + p - k, \beta, x).$$

Observation. From the discussion of the paper it may be concluded that the double interpretations in the application of Weisner's method while studying a special function $p_n^{(\alpha)}(x)$ for deriving generating functions, may be replaced and the desired results obtained by double interpretations of α and n may be easily derived from the results obtained by single interpretation to the index (n) in the Weisner's method while studying $p_n^{(\alpha-n)}(x)$, a modified form of $p_n^{(\alpha)}(x)$ only by a mere replacement of α by $\alpha + n$.

References

- [1] I. Fujiwara. A unified presentation of classical orthogonal polynomials, *Math. Japonica* **11**, 1966, 133-148.
- [2] N. K. Thakare. *A Study of Certain Sets of Orthogonal Polynomials and Their Applications*, Ph.D. Thesis, Shivaji University, Kolhapur, 1972.
- [3] L. Weisner. Group theoretic origin of certain generating functions, *Pacific J. Math.* **5**, 1955, 1033-1039.
- [4] L. Weisner. Generating functions of Hermite functions, *Canad. J. Math.* **11**, 1959, 141-147.
- [5] L. Weisner. Generating functions of Bessel functions, *Canad. J. Math.* **11**, 1959, 148-155.
- [6] P. N. Srivastava, S. S. Dhillon. Lie operators and classical orthogonal polynomials, II, *Pure Math. Manuscript* **7**, 1988, 129-136.
- [7] S. K. Pan, A. K. Chongdar. On generating functions of certain orthogonal polynomials by group theoretic method, *Sains Malaysiana* **22**, No 4, 1993, 69-78.
- [8] B. K. Sen, A. K. Chongdar. Lie theory and some generating functions of extended Jacobi polynomials, *Rev. Acad. Canar. Cienc.* **VI**, No 1, 1994, 79-89.
- [9] A. K. Chongdar, N. K. Majumdar. Some novel generating functions of extended Jacobi polynomials by group theoretic method, *Czechoslovak Math. J.* **46 (121)**, No 1, 1996, 29-33.
- [10] E. B. McBride. *Obtaining Generating Functions*, Springer Verlag, Berlin-Heidelberg-N. York, 1971.
- [11] H. L. Krall, O. F. Rink. A new class of orthogonal polynomials: the Bessel polynomials, *Trans. Amer. Math. Soc.* **65**, 1949, 100-115.
- [12] A. K. Chongdar, B. K. Guhattakurta. Some generating functions of modified Bessel polynomials by Lie algebraic method, *Bull. Inst. Math. Acad. Sinica* **14**, No 2, 1986, 215-221.
- [13] A. K. Chongdar. Lie algebra and modified Bessel polynomials, *Inst. Math. Acad. Sinica* **15**, No 4, 1987, 417-431.
- [14] E. Feldheim. Relations entre les polynomes de Jacobi, Laguerre et Hermite, *Acta Math.* **75**, 1943, 117-138.
- [15] W. A. Al-Salam. Operational representations for the Laguerre and other polynomials, *Duke Math. J.* **31**, 1964, 127-142.
- [16] V. K. Verma. Double hypergeometric functions as generating functions of Jacobi and Laguerre polynomials, *J. Indian Math. Soc.* **32**, 1968, 1-5.
- [17] E. D. Rainville. *Special Functions*, Macmillan Co., New York, 1960.

- [18] A. K. C h o n g d a r. Some generating functions involving Laguerre polynomials, *Bull. Cal. Math. Soc.* **76**, 1984, 262-269.
- [19] A. K. C h o n g d a r. Some generating functions involving generalised Bessel polynomials, *Bull. Cal. Math. Soc.* **77**, 1985, 330-339.
- [20] B. G h o s h. Group theoretic origin of certain generating functions of Jacobi polynomials, II, *Pure Math. Manuscript* **5**, 1986.
- [21] A. B. C h a k r a b o r t i, A. K. C h o n g d a r. Group theoretic study of certain generating functions of Hypergeometric polynomials, *Tamkang J. Math.* **16**, No 3, 1985, 1-10.
- [22] A. B. C h a k r a b o r t i. Group theoretic study of certain generating functions of Jacobi polynomials, *J. Ind. Inst. Sci. (Math. Sci.)* **64B**, 1983, 97-103.

*Dipartimento di Matematica
Università di Torino, Via C. Alberto 10
10123 Torino, ITALY*

Received: 19.08.1997

e-mail: sacripante@dm.unito.it